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LAW
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Consider the following Judgements of the Supreme Court, which dealt with the
appointment and transfer of Judges of the Supreme Court and High Courts :

(i) S.P. Gupta Vs Union of India

(i) Sankal Chand Vs Union of India

(iii) In re special Reference No. 1 of 1998

(iv) Supreme Court Advocate on Record Association Vs Union of India

Which one of the following is correct chronological order in which the above judgements
were delivered ?

(A) @) @) @) @)
(B) @) @ 3D @)
© @) @@ @v) ()
(D) @) () @v) (i)

2. Which one of the following is the correct statement ? ‘Full Faith and Credit’ clause of
the constitution does not apply to :

(A) Public records (B) Judicial proceedings
(C) Acts of Corporation (D) Public acts
3.  In which case has the Supreme Court of India held that there is no reason to compel

non-smokers to be helpless victims of air pollution ?

(A) Salem Advocate Bar Association Tamil Nadu Vs Union of India

(B) Onkar Lal Bizoe Vs Union of India
(C) Ramkrishnan Vs State of Kerala
(D) Murli S. Deora Vs Union of India

4.  Joint Session of the Parliament was summoned by the President of India to pass :
(A) Dowry Prohibition on Act (B) Banking Service Commission Act
(C) Prevention of Terrorism Act (D) All the above Act

D —5808 2
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Ae: T TS # TS (50) TRHE U9 T UEE Uk ar (2) 3k 1 Wt wwEl k IW
HiE

1. S AT & Efaiead o w foer S, 3 o S=an = tg S e
% e i e v T & v § ©

() TEYL. TE SHM 4R "9

(i) Hiehel =< M YRd HY

(iii) 1998 oo fidw e 1 d=<d |

(iv) U hIE Tearhed T Rehre TRfaaem amM vRd 99
frefafed 5 & 1 98 921 hershd quidl B, e S i fad ™ €2
(A) (@) @) (D) (iv)

2. frafafed § @ F 91 T woF 9@ 2?2
Hfgem 1 ' qut favar ik wre’ e ar] 7 a g
(A) @ sTfierEl W (B) ATk STl W
(C) i & &Rl W (D) ek SRl W

3. foru arg H Seaam =mreE | gg sfufeifa foran fom S g w6 o € 3% 9 gguo
g1 & fou faaer et o1 1 R0 T 27

(A) HeH TSk IR TRIFHATH, THEHTg o™ YRd 69
(B) 3R ot foiie MM vRA &

(C) THFSH M i TF

(D) Tl TH. <ol M 9RA

4. NG % UPUfd gRI GHS I GYH | 3TEd fohan T
(A) <2 gfauy sifafm = (B) e War AN Tt i
(C) 3Adsharg farur stfuf=m i (D) Swdw |4t st 1 wiid 3 & foag
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5.  Match List-I and List-II and select the correct answer using the code given below the

lists :
List-I List-1I
(a) Liberty of thought and expression (i) Right to freedom
(b) Freedom of speech and expression (i) Cultural and Education rights

() Making special provision for women  (iii) Preamble
and children

(d) Protection of interest of minorities (iv) Life and Liberty
(v) Right to equality
Code :
(@ ((b) (o (@
(A) @) (@Gv) (v) (i)
B) @@ () @) @
(© @) (v) (v) (i)
(D) @@ @) & O
6.  Which one of the following is the correct statement ? Double Jeopardy means :

(A) trying a person for two offences committed by him in one incident

(B) putting the same person on trial twice for the same offence
(C) trying the same person for two offences at two different times
(D) trying two persons jointly for the same offence
7. Which one of the following is the correct statement ? The theory of repugnancy has

application in a case where :

(A) Dboth Union and State occupy two different fields in different lists
(B) Dboth Union and State laws are enacted under the concurrent list

(C) the Union law is enacted under List III and State law in enacted under List II
(D) the Union and State laws enacted under the State list

8.  Which one of the following is not expressly covered as a Fundamental Right under the
constitution of India ?

(A) Right to form association

(B) Right to equality before law
(C) Right to freedom of press
(D) Right to assemble peaceably and without arms
9.  Which set of the following is the concepts of law ?
(A) Precedent and Legislation (B) Judicial Process and Judicial Activism
(C) Rights and Duties (D) Ratio and obiter
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5. gel-1 1 Fell-11 6 9o gafer wIfse o giedi & e e @ g w1 9E wEd SW

gHT :
i1 Tet-11
a) fo=r wd sAfyysats st e i) @A o SRR
b) A WA=A TS Afeals sl s ii) Hiwpfae T Vefrn iR

d) eTeuHEIhl o fadl 1 G0 iv) 01 TS W

( (
( (
(c) T IR arerenl & fau faxe suery aam (iii) 3efeTRT
( (
(v) HHaT 1 TR

g

(@ b () @
(A) (D) (@Gv) (v) (1)
B @@ (v @) @
(© () (v) (@v) (i)
(D) @) (@Gv) (v) @)

6. TrAfafed & 4 & o1t o 96 T2
IgwT uRbahe W SIfuda & :
(A) T B Afh o foes Tk & o1 § §1 3T90Y i o fag fo=mor &
(B) Uk Bl 9UY & ToTq Tk & =Afh o foreeg &1 o for=mo s
(C) UH & =afe & foeg <1 TRl o foarw <1 ster-31er wma W o= s
(D) U & AW & faw 9w &9 ¥ < Al & faeg fommo &

7. TreAfafed § @ @8 @t wue 9@ § 2
oty 1 fagra 59 HmHel § oh] 2 € e
(A) TF AR T A1 fafis el o fafis e & sifaseft &)
(B) ® 3R T I 7 THard! gt & 31ef fafy sifufafaa =t &
(C) <l Tt & o1efi9 To A 3R gud g & A v A fafy sifufafaa =6t 2
(D) 9 3R T7 7 T3 Pt & onefia fafy stfufafaa =6t 21

8. URd % HfauM™ o 1¢fF qa1 a1l & w9 # Frefafed § 9 foeg sifusr o1 9o gy
w9 9 T foran 1 §2

(A) ETH IH F STHHR B) fafa % wmg a1 AfUHR

(C) U9 WA &l AHER (D) wifaye® iR FRs T &1 IR
9. TreAfefEd § & & @1 ot faf &t Sehea &1 72

(A) YA TE faumeE (B) =t UfHa Ta =afaeh |ihaan

(C) 3R T A (D) fviER we grfiR fof
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“Jurisprudence was designed to defend the stability of a particular economic system
and protect the interests of the middle class. A legal theory built on these premises can

11.

12.

13.

14.

15.

hardly be called value-free or impartial”. Said :
(A) Austin (B) Salmond
(C) Holland (D) Hart

Which one of the following is not a source of law ?
(A) Legal theory (B) Custom
(C) Precedent (D) Legislation

Match List-I with List-II using the code given below :

List-I List-II
(Theory) (Subject)
(a) Retributive theory (i) Legal Right
(b)  Sociological theory (il) Source of law
(c) Theory of Precedent (iii) Punishment
(d) Theory of Property (iv) Roscoe pound
Code
(@ (b)) () (@
A) @ @) @) G
B () @) @ 0
© ) @ O @)
D) (v) @) O G
Law is a means of :
(A) Social Theory (B) Individual Development in Society
(C) State Action (D) Social Control

Kelsen propounded one of the following theories :
(A) Realist theory (B) Natural law theory
(C) Pure theory (D) Sociological theory

The weaknesses of International law are :
(i) Lack of institutions

(i) Lack of certainty

(iii) Vital interests

(iv) Lack of sanctions

Code :

(A) (iii) and (iv) are correct

(B) (ii) and (iv) are correct

(C) (i), (ii), (iii) and (iv) are correct
(D) (i), (ii) and (iii) are correct



10.

11.

12.

13.

14.

15.

faftrems =t s1fiterea W fafdm enfeler sawen & wenfac qen Heaa & fedi ot & & fod
off | TH oMyR W wfquifeq fafere fagm v & 7o @ a1 foaet s 3 €, &l

(A) STEH A (B) HMUE (C) e | (D) ®BEH
Frefafea § & wm @ fafy =1 @@ 72 &2
(A) fafesh fagr (B) %fe
(C) YA (D) faumd
& 7 e § 9 GEI-1 & 91 G-I 6l GAfAd wifsd
eI -1
( fagr=1) (fawe)
(a) WiceiETES g () Tfafuewr sAfeer
(b) wHRET s i) fafu = wa
(c) AT = fagT= (i) <TUS
(d) T o g (iv) &Rl =TS
F &N
(@ B (© @
(A) (@) (v) (i) (i)
(B) (i) (v) @) (@
(© ) @) @) @)
(D) (@v) (i) @ ()
forfer wep @mem
(A) WSt fagT (B) HuI § eATHa fershr
(C) T HE (D) wmHISTR =
shead A FAfataa ° 9w fagra ufqurfea foan
(A)  Fenard fagr (B) Wiefaen faifer =1 fagr
© s fafu =1 fagr (D) GHEITEE fgr
sauigra fafy st geiear € -

(i)  wEnst w9
(i) TfR=Edr 1 s

(iif) Yol fed

(iv) ST Rl 14T

e :

(A) (i) T (iv) T& §1 (B) (i) Wd (iv) & ¥
Q) (), (i), (iii) T (iv) T F1 (D) (i), (ii) T (iii) T&¥ T
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16. Match List-I with List-II using the code given below :

List-I List-II

(Principles (Decisions)
(a) Concept of limited liability (i) The South West Africa case
(b)  Principle of subrogation (i) The Barcelona traction case
() Concept of trust (iii) The Danube case
(d) Duty to pay compensation for (iv) The Mavrommatis Palestine

proven injury concessions case

(v)  Frontier Dispute case

Code

(@ B (© (@
(A) @ @@ (v) (i)
B) @) (@Gv) @ (i)
© @ @) @D (v)
(D) @) (v) @) ()

17. An interim government of ‘Romalia’ seeks control over certain funds belonging to the
Republic of Romalia. Romalia is in a state of civil war. An application is filed before a
UK. Court by the interim Government. The evidence before the court is that - the UK.
Government has no dealings with the Interim Government. The court comes to the
conclusion that there is no effective government of Romalia. The court :

(A) will accept the application because the applicant is an interim government

(B) will not accept the application because the government has not been recognized
by U.K.

(C) will not accept the application because if has no jurisdiction

(D) will not accept the application because the interim government is not in its
determination a sovereign government

18. Assertion (A) : Only states may be parties in cases before the International Court of
Justice.

Reason (R) : Non-parties may have access to the Court with the prior approval of
the secretary-general.

Code :
(A) Both (A) and (R) are true and (R) is a correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

D —5808 8



16.

17.

18.

Telt-1 61 Geli-11 9§ = o3 T 2l 6t g § gaferd S

-1 -1

( RagT=1) (i)
(a) wifta TfaE =1 fagra (i) =Y A= STEIH AIE
(b) T 1 fag (i) ST SR aTg
() = fagr (i) I AQ
d) fas &fa = fora gfaseo (iv) HaHfeH Yerersd waed a1’

T T T HAA

(v) IR ferege 9

% :

(@ b) () (@
(A) @) @@ (v) (i)
(B) () (v) (@) (i)
© @O (@) @) (v)
(D) @) (@v) @) @)

Jmferan i STARH TRhR AW TR & Hiqud ®vg W =01 S =t &1 Jeteran
H - &1 feafa ¥1 3fafia TR T 3%, F1E H 91 e Hdl § 1 e % q9el 98
e T fom grges fhTen it TR o1 3Tty TR & 1Y g GIaeR T2l &1 = 34
frp T wEt © o Jnferen H i gereenel TR 6 ¥ e

(A) STHEH S WHER TN Fifh TaeH Tk HART TWHR 7

(B) SO ol TR F&l HOM Hil(h T3S FhTSH 7 THR I W=l T8l af ¢ |
(C) ST I TR T HTM Fifeh 3T HIE AAMFR Tl ¥

(D) 3T I TR &l UM Fifeh TTR! T H AR THR T HIY THR Tl T

HYT (A) : Hacl ToT FA=RIBT A F THET T&THR 8 Tohd ¢ |
HIUT (R) : TR-Te7ehR Teifa=a ot gd mafa ¥ =amemes § 91g & 9 €
g

A) (A) T (R) THI T2 § T (R), (A) T T TSR T |

B) (A)Ud (R) THI T&l € W (R), (A) T Tel TSR T T |

Q) (A) &l & T (R) T g |

(
(
(
(D) (A) TTeTd B W (R) HEl €|

)
)
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19.

20.

21.

22.

23.

24.

Indicate the correct order in which the following decisions appeared :
(i) Namibia case

(i) Naulilaa case

(iii) Nauru Vs Australia

(iv) Nicaragua Vs Honduras

Code :

(A) (i), (iii), (iv) and (ii)
(B) (i), (i), (iii) and (iv)
(©) (i), (iv), (ii) and (i)
(D) (iv), (iii), (ii) and (iii)

Human Rights Council has taken the place of :
(A) International Human Rights Institute

(B) Human Rights Committee

(C) Centre for Human Rights

(D) Human Rights Commission

Dower in Muslim law is :

(i) Dowry

(i) An obligation imposed upon husband as a mark of respect for wife
(iii) Sale price of woman

(iv) Consideration for Marriage

Select the correct answer by using the code given below :

Code :

(A) (i), (iii) and (iv)
(B) (ii) and (iii)

(C) (ii) and (iv)
(D) (i) and (iii)

In which of the following cases S. C. held ‘Talakul Biddat" is not a valid divorce ?
(A) Bai Tahira Vs Ali Hussain Fissalli

(B) Shamim Ara Vs Union of India

(C) Mohd Ahmad Khan Vs Shah Bano

(D) Yusuf Vs sawarama

Marriage in Fosterage relationship is :

(A) Valid (B) Irregular

(C) Void (D) None of the above

In which of the following the Supreme Court held that the Registration of Marriage
should be made compulsory :

(A) Ashok kumar Vs Rupa Hura

(B) Seema Vs Ashawani kumar

(C) Hafizunnissan Vs Mohd. Yasin khan

(D) T. Sareetha Vs T. Venkatta Subhaiah
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19.

20.

21.

22.

23.

24.

3T TRl ATHA hl 3ATa itere fored Fefafaa o g & o
() Ao A

(i) Hfern o

(iti) & M AR

(iv) TTRREgsT oM dgud

&

(A) (i), (iii), (iv) T3 (i) (B) (i), (i), (iii) T (iv)
(C) (i), (iv), (ii) T (i) (D) (iv), (iii), (ii) TS (iii)
HHeTfeeRR gt 3 T foen © ¢

(A) TS HHETHERR e (B) HHenfyshR Hfhfa
(C) WHATYFRR &g (D) HHEATYRR SR
i fafy 5 wet

() AT

(i) Ofd GRT I o UfT NS T oA B
(i) i I forsha g

(iv) forame =1 gfase

Freiferd e sl FRE 9§ HEl I AT

(A) (i), (iii) 3R (iv) (B) (i) 3 (iii)
(©) (i) R (iv) (D) (i) 3R (i)

frfafed o<l § ¥ S=aq =@ 1 e ¢ arees faea’’ 1 92 dores T8 9 T ?
(A) 9T qfET oW oTeh o fRamett  (B)  SHIH STR1 9FM YRd &9
(C) W= TEHS Tl I e FH! (D) I AT gLl

o ey § faare 2 :
A) fafaar= (B) YK
© A (D) IWIb H 9 g T8

Frfafed ol § Swam = 3 e ae faare & i stfard am 872
(A) 3Teich HAR ST & gl (B) HIHI oM ST FHR
(C) TEINIfHT S Yers AT il (D) 3. Flten s A, Seher g
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25.

26.

27.

28.

Match the List-I and List-II using following code :
List-1 List-1I

(@) Registration of Marriage (i) S. 112 Evidence Act
(b) Presumption of Marriage (i) S.7 HM Act
(c) Presumption of legitimacy of child (iii) S. 114 Evidence Act
(d) Marriage religious ceremonies (iv) Section 8 HM Act
Code

(@ ® () @
(A) @ @) () (v)
(B) (v) @) @ ()
(€ @) @v) @@ @
(D) @@ @) (@v) @

Assertion (A) : A Bigamous marriage is void under Hindu law.

Reason (R) : A child born out of void marriage is legitimate child of his parent.
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

When consent is not free, agreement will be :
(A) Voidable (B) Void
(C) Illegal (D) Void or Voidable

Assertion (A) : Law of contract recently facing a problem due to frequent use of
contract of Adhesion.

Reason (R) : One party to contract has no choice to negotiate but to accept it.
Code :
(A) (A) is right but (R) is wrong

(B) (A) is wrong but (R) is right
(C) (A) and (R) both right and (R) is right explanation of (A)
(D) (A) and (R) both right but (R) is not right explanation of (A)

5808 12



25. G-I 3R G-I & gafaa Hifse aen g & = i3 T e ot Fera 9 98 3w

g
i1 Heft-11
(a) ToramE = gSireRo () o 112 Hieg SAffEH
(b)  Toreme kT STEROT (i) =7 feg faemg sAfufrm
(c) ST St el St STEROT (iii) 9N 114 Feg TffEm
(d) foere = enfiis w4 (iv) o8 g forame srfufram
g
(@ b)) () (@
(A) (@) @) (i) (iv)
(B) (@(v) (i) @ ()
(© @) @Gv) () @)
(D) (@) @) Gv) @
26. A (A) : T fafy # fafaams s 3 €1
HIUT (R) : T Toramg & 3t forgy 1o wren-foan o et forgg 2ran €1
e
(A) (A) 3R (R) I &I € 3R (R), (A) T HE TSR |
(B) (A) 3R (R) I Tl € T (R), (A) T el SIS & ¥ |
Q) (A) T € T (R) T |
(D) (A) 7T & W (R) Tl
27. & HeHld Tl el &, O anT
(A) AT (B) A
(C) eray (D) A AT YR
28. YA (A) : TS & HAME WEY & &Rd STAN 9§ ATiehal diger fafe § ueh we o1 9rg=
T T
ST (R) : HfSET % Teh UeIehR ol a1l ol Td=1dl el Bl difeeh S9 Tiighd il Tl § |
e
(A) (A) T2 € T (R) T |
(B) (A) 7T & W (R) Tl
(C) (A)TH (R) ST W& T AT (R), (A) 1 HEl TISTHI T |
(D) (A)Wd (R) SFI 9@t € W (R), (A) i TeT TIEIH0T & ¥ |
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29.

30.

31.

32.

33.

Voidable agreements are declared in :
(A) Section 2 of the contract Act (B) Section 30
(C) Section 19 (D) Section 60

Which one of the following pairs is correctly matched ?

(A) Mohiribibi Vs Dharmodas Ghose —  Proposal

(B) Hadley Vs Baxandale —  Free Consent

(C) Satyabrat Ghose Vs Magniram  —  Frustration of contract
(D) Lalman Shukla Vs Gauri Dutt —  Capacity to contract

A promise to pay subscription for charitable purpose will be enforced if :

(A) promise is made in writing

(B) steps have been taken in furtherance of promise
(C) amount is not excessive
(D) part payment has been made

An agreement will be void, if mistake is :
(A) of facts as well as of law (B) of law

(C) of facts (D) neither of facts or nor of law

Match the following :

(a) Gillick Vs West Norfolk and (i)  Strict Liability
Wiseback Area Health Authority

(b) Wagon Mound II (ii) Violation of absolute rights
(c) Ashby Vs White (iii) Remoteness of damages
(d) M. C. Mehta Vs Union of India  (iv) Doctrine of common employment
(e) Priestley Vs Fowler (v)  Volenti non fit injuria
Code
(@ @® (© (@ (o
(A) (v () @G @@ @)
(B) @) @@ @) @ O
(© G) @) v) @ @)
(D) Gv) (@) G @ O
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29. IIHUIE FIR S €
(A) dfaar sifufm &t g 2 | (B) ®RI30H
(C) =19+ (D) HRI60H
30. frefafea § @ =F @1 Sirgr gafed &2
(A) Wredetet s e =y TS
(B) TS M S A= HeHid
(C) TS =Y o TR e 1 W
(D) TETH Y& ST TR & Hfaar s Heg
31. fier FASH o fo1d TF < w1 Fida Fed=1g e, 4fe
(A) e ferfiea & & (B) fda & TR H &l 3% o fean &
(C) fer srafers 7 = (D) 2Tif¥TeR A & ez =
32. R Y B, 4TS 9l
(A) T wraeh qen fafy Tt & (B) fafy wwsieft 2
(C) T gt & (D) 7 i qeai Tt 2 iR 7 & fafy wwiE @1
33. fr=fafea w1 gafaa sife -
(a) e sAM %< AX®® TE (i) R IfHE
aTES ek TRAT 7o AT
(b) N HIR¥UE II (i) Yof Ao 1 IeeA
(c) TIE S arse (iif) B T qLEa
(d) THHL. HEd SHH qRG Ho (iv) G e @ fagm
(e) Tred am wieR (v) To=sT ¥ afd T et
g
@ M © @ (o
(A) (v) (i) @) @ (i)
(B) (@) @@ @) O ()
© @ @) (v) @O ()
(D) (v) @) G @O ()
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34.

35.

36.

37.

38.

39.

Assertion (A) : Attempt to commit suicide is punishable under the Indian law.
Reason (R) : In English law also attempt to commit suicide is punishable.
Code :

(A) Both (A) and (R) are true and (R) is a good explanation of (A)

(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

The term MALFEASANCE applies to :

(A) the commission of an unlawful act

(B) the improper performance of some lawful act
(C) the failure to perform some act for which there is an obligation to perform
(D) (A), (B) and (C) all are correct

Salus Populi Suprema Lex means :

(A) The welfare of the people is the supreme law
(B) Law is more important than the people
(©

(D)

The supremacy of law can never be questioned

Public opinion is superior to law

In India, the Railways :
(A) Have direct statutory duty to erect gates and employ gatemen at the level crossings

(B) Have no duty until the central government so requires by a requisition under
Section. 13 of the Railways Act.

(C) Being engaged in an inherently dangerous activity are bound by the common
law duty on the principle of neighborhood

(D) Both (B) and (C) are correct

Exemplary damages are awarded :

(A) When it is considered that an action should never have been bought
(B) When the purpose of the action is merely to establish a right

(C) When it is necessary to compensate the plaintiff

(D) To punish the defendant and to deter him from similar conduct in future
Nothing is an offence which is committed by a child below the age of :

(A) 5 years (B) 7 years

(C) 9 years (D) 12 years
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34.

35.

36.

37.

38.

39.

HYT (A) : AT T FIH IR fafyy o gueig T

HIUT (R) : s fafer § oft sncqecn o1 799 gveia 7
Fe:

(A) (A) TF (R) S T2 7 31K (R), (A) T 3T=DT TSI T |
(B) (A) T (R) i W& ¥ foheg (R), (A) 1 T TSRO & 7 |
Q) (A) 5 ? foheg (R) TTe1@ R

(D) (A) 7Tefd & foheg (R) W €1

U\_/

HAREH (MALFEASANCE) STa8RUN &1 Bl & :
A) TdY wE HEAT

B) foreht faftrer el sl stgferd &9 9 &

C) fora & & & 1 I T W T HET

D) (A), (B) W& (C) Tt Wl %1

~ o~ o~ o~

He dqelt GUH @9 (Salus Populi Suprema Lex) 1 319 ©
(A) TR e Faired A B |

(B) fafy <nii & siferr Teegol 7

(C) faftr =1 Fetwar 1 AT & <F S Hehelt B

(D) deHa fafy & 3= %)

IR § & ¢

(A) I WEA HIGT R T2 AW T Te0A 1 Fgfh T o1 Jenfae e 71

(B) 1@ ek Ya1d SATYMAH it ¥RT 13 o ST & [d TR STRIE 7 Y T qoh {Tal I hig
e TE |

(C) SFAH WAt w1 F G A @ 9= fafY o 9€/9 %l (neighborhood) g &
IR e B |

(D) (B) T (C) I Wl €|

ERCIUIRES RN ECEIRIES |G

(A) 9 7€ HHEH W foh e T hIE HRIETE T i T T |
(B) el HSTE! 1 IR hadl ATIHR hl TN AT 2|

(C) Tel oI1et shi &faqfd STTewas 8|

(D) e Yfoast 1 g0 A 2 iR wfesr § 38 SHt e F FE HE Y S H A
Torg g fopem T 1l TRy & B Afe SHeRT o1y

(A) 5@ (B) 7@ (C) 9= (D) 12 9§

D —5808 17 P.T.O.



40. Assertion (A) : Nothing is an offence which causes slight harm.
Reason (R) : Law does not take care of trivials
Code :
(A) Both (A) and (R) are true and (R) is a correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

41. Match List-I and List-II with the help of codes given below :

List-I List-II
(a) Kehar singh Vs State of Delhi (i) common object
(b) Visakha Vs State of Rajasthan (i) outraging the modesty of woman
(c) Roopa Deol Bajaj Vs K.P.S. Gill (iii) murder
(d) Gurdatta mal Vs State of U.P. (iv) sexual harassment
Code

(@ M () @
@) O @ @)
B (i) ) @ 0
© (v @) O (i
D) () @) @) @)

42. Ignorantia facit doth excusat means :

(A) Ignorance of law is no excuse

(B) Ignorance of law is an excuse in certain cases
(C) Ignorance of fact is an excuse
(D) Ignorance of law and fact both are excusable

43. ‘A’ an insane person kills ‘B’ by firing from a loaded gun. A has committed :

A) An offence of culpable homicide not amounting to murder

(

(B) An offence of murder

( An offence of grievious hurt
(

No offence at all
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40.

41.

42.

43.

HIUT (A) : Tgd HH & TR T T
HIUT (R) : To5 aral W fafyr eam 72 3t |
g

(A) (A) TS (R) I T2 7 IR (R), (A) 1 F& TIEH T |
(B) (A) T (R) I W& ¥ faheg (R), (A) T T TSR & & |
(©) (A) W&l © fohg (R) TTerdl B |

(D) (A) 7o € fohg (R) W& 1

= fed T3 H T TEEa W Feit-1 76 GR-11 1 gafad wife

'Fljﬁ-l -11
(a) w9z T W &t ™= () SR
(b)  TerETeRT SHM TSTEAH T (ii) T Rl AT AT B
() & I oS 9 .dwE. fra (iii) &
(d) TECAHd I 9W, T (iv) I T

(@ M () @
) @) (@)
(i)
@)
(

iv)

(ii)
(1)
(iif)
(1)

(

(B)
(©
(D)

(

(i)  (iv)
(iv) (ii)
i

i)

g

‘SRS Hige Sy Vaegde’ 9 arcd §
(A) fafa =it st s=mE T B

(B) fafu =t s9=<n F® Al | o= §

(C) T I ST 991 |

(D) faft =t st Td qedi ot SR 9=

~"

‘A’ T UNTA A T g a5 hl Tl ‘B’ I AR T@ g1 A ¥ o

(A) T TEI HHe T H ST S el T8 §
(B) T 1 3TOIH |

(C) TR =1 T Y |

(D) IS TIY TR |

D —5808 19 P.T.O.



44.

45.

46.

47.

48.

Under which of the sections of the Indian Penal code, 1860 a person can be convicted
for the offence of Bigamy ?

(A) Section 375 (B) Section 377
(C) Section 494 (D) Section 498

Assertion (A) : Only a section of labour force is protected under section 17 of the
trade unions Act.

Reason (R) : Protection is available only to office-bearers and member of registered
trade unions.

Code :

(A) Both (A) and (R) are true and (R) is a correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Which of the following is an “industry” ?
(i) Radio and Doordarshan

(ii) Central Institute of Fisheries

(iii) Postal and Telegraph Department

(iv) Public Service Commission

Code :

(A) (i), (ii) and (iii) are correct
(B) (ii) and (iv) are correct

(C) (i), (iii) and (iv) are correct
(D) only (i) is correct

Who among the following is a workman ?

(A) Legal Representative of deceased workman
(B) Research fellow
(C
(

) Probationer
D) A member of armed force

A workman had worked intermittently in the past. His appointment was made on
contractual basis with a stipulation that his services could be terminated as and when
the council deemed necessary. His services were terminated subsequently. But
retrenchment compensation provisions were not followed. He is :

(A) entitled to be reinstated with full back wages
(B) not entitled to any compensation

(C) entitled to retrenchment compensation

(D) entitled to wages as determined by the court

D —5808 20



44.

45.

46.

47.

48.

YR T8 Hfedr, 1860 & 3T=id fod et # fgfaenfea =afe =1 St fag foran <1 weman
g

He :

(A) ®I375 (B) ©IRI 377 (C) T 494 (D) ©IRT 498

HAT (A) : F9 V6 FT FHad Teh N FIGR AT F =8 17 & SHavia Gerd g
HIUT (R) : Tsiohd I G & hael AR Te Tl Sl T U |

A) (A) T (R) THI T T 3R (R), (A) FT T TITH ¥ |
B) (A)Ud (R) THI W&l € W (R), (A) T T& TIHRIT & 7 |
(A) T fohg (R) TToTd T

(A) T © fReg (R) W& 1

freafafea § 9 &F 3 8?2
() el oo e
(i) FHE T G
(i) UL TE T faum
"

iv) ek Hal AR
g

(A) (i), (i) T (iii) T& T (B) (i) T (iv) & T
(©) (), (iii) T (iv) T §) (D) e (i) &I T
frefafed & 9 oF HHAR 72

(A) Td FH&R & fafer AUl (B) oY STea

(C) dREenHi= =afh (D) EEH d Sl U

‘A’, Tk FHHHR d T ATk T & HI 911 3Hh! (36 Gl o MER W 39 3964
o T 1 T TR SHen! Yo ST &0 wafdd g1 S 59 & qRug st §he | ag |
ST TG THH B ME | W] Bl o f7d YfThR Traemi o1 STTER0T T8 fohan T, 9%

(A) Ui gefardt TeIgd o | UA: T 1 AR ¥
(B) fowrdlt ot R & Ufaer 1 SAfrepit =1 B

(C) Tt el YawR o A 7

(D) e gR fAsifa wergdt @1 it 7
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49. Match List-I and List-II using the codes given below :

List-I List-1I
(Industry) (Judicial decision)
(a) Cooperatives (i)  Corporation of city of Nagpur case
(b) Charitable Institution (i) Prabhudayal Vs Alwar Shakari
Bhumi Vikas
(c) Educational Institution run by a (iii) Ramkrishna Iyyar Vaidyanathan
corporation Vs Fifth Industrial Tribunal
(d) Chartered accountants (iv) Bombay pinjarapole case
Code :
(@ ® () @
(A) @v) @ @) (i)
(B) (@) @) (v) @
(© @@ Gv) @ ()
(D) @@ @) @ (1)

50. Consider the following decisions on the meaning of the employer under section 2 (g) of
the Industrial Disputes Act. Identify the correct order in which they appeared :

(i) Bombay Dock Labour Board Vs Stevedone workers
(i) Western India Automobile Association Vs Industrial Tribunal
(iii) Kays Construction Co (P) Ltd Vs Its workmen

(iv) Anakapalle cooperative Agricultural and Industrial Society Vs Its workmen

Code :

(A) (@) (@v) (D) ()
(B) (@) @@ @ @)
© @) @@ @) (i)
(D) @) (@) (v) (i)

-00o0-
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49. = 3 T S H TR G GEl-1 1 gEi-11 9 gafad S

Teit-1 Tet-11
(=) (=t ot )
(a) ISR () RO i o ifw AR AR
(b) e e (i) YYSAT M TR Wkt fH foehre
(c) T gru denfera Reifvres e (i) THESI SRR AU IAM d=d, irenfin
ARt
(d) TLE THR<= (iv) =Tl TSI o arg
g
(@ @B (©© @
(A) (v) @) @) (i)
(B) () () (v) ()
©) () (@v) @ (i)
(D) () (i) @ ()

50. iRt foame sIfufem & o=t 2 (g) § Rt friss @ Twafaa = okl | fomr
FITT | 3T 3THT FI U= Hiree f598 3 Jehme | 19
(i) 9T S AR IS TH WASH dhd
(i) o= gfean sTemMEEe oM SirEnfitn sTfushto
(iii) S FgRE w9 () fafres s m 6% FHER
(iv) STTehTIeeT hISTHIca TiheeRd T8 s-eRegdd ARl JHM 3Hh HHBR

-00o0-
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